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Sketch a graph of each function. Then identify what’s indicated below.| A=P (1 i ;) A=Pet N=No(1sr)t A = Noe*!
1) f(x) =lnx+3 ' 2) f(x) =e® D -2
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3) In mediaeval times, there were 10,000 people living in a city that was struck by a plague so that people began to die atp,,:*‘jw..l

an exponential rate daily. After 6 days, there were only 8,500 people living. Find the rate as a percentage. Then, J,

21
determine how many were living after three weeks.
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4) Use the change of base formula to evaluate. Route to the nearest thousandth. log, 21 | ill | .
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5) Expand: In= Sy T2 6) Condense: Z(logzs + log,x — log,4 — 2log,y)
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